Question Bank
ECONOMICS

UNIT-VIII
HT—PIVY (Assertion-Reason) (01 Mark)

Answer Options 3@ fa&eq (for all questions)

(A) Both A and R are true, and R is the correct explanation of A.
AR R AT T E, 3R, A HT T TR R

(B) Both A and R are true, but R is not the correct explanation of A.
A 3R GIAT TET €, afehet R, A T TET carear AT 8|

(C) A istrue, but R is false.
A FETE, Wfehe R AT B |

(D) A is false, but R is true.
ATTAd &, oifheT R @RI 81

QUESTIONS-

1. Assertion (A): Teh TIHRT ol TSR HT 34TaIT ifcqat 3R o9 &1 v faavor
giem &1

A government budget is a statement of expected receipts and expenditures of the government
over a fiscal year.

Reason (R): T{hRI Folc HIeTaeAT H Hed FULAT S0 T@A H HFRIAT LT &
The government budget helps in maintaining price stability in the economy.

2. Assertion (A): G¥HR &7 Folc 3T JTHAAT A HF R & T IR FIr S g1
The government budget aims to reduce income inequality.
Reason (R): TR IRV W 3T & @Y 3N 3T TE3T ) AieHsT

T 3 Ired AT

The government achieves this by imposing higher taxes on the poor and reducing subsidies
for essential goods.

3. Assertion (A): TXHN & Folc & & YHY Hh Toled Fofe R Golera aoie g gl

The two main components of a government budget are the revenue budget and the capital
budget.

Reason (R): T <3 3R GollIld 03 &l Toled dolc & el qefiehe foham
ST gl

Revenue expenditure and capital expenditure are classified under the revenue budget.
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4. Assertion (A): TSTET TITCAAT THR T SAGIRAT &Y #1gT Ferdr &
Revenue receipts do not lead to an increase in government liabilities.
Reason (R): ¥ IIftqar & 3R I-a @Al & 3c9eo giar ¢ 3R i &l &
forw 3gier fr S €1

These receipts are generated from tax and non-tax sources and are used for day-to-day
functioning.

5.Asserti0n(A):Cj\x_rﬁTlFf§lTﬁ?-|'qTW@I’éﬁaﬁaﬁa@?ﬁ%msﬂﬁmﬁﬁ
P HH T ¢

Capital receipts increase the government’s liability or reduce its assets.

Reason (R): ATGSI(oeh &9 & 3UshA! (PSUs) & Taferaer & qaiterd wifed AT Srdr
gl

Disinvestment of Public Sector Undertakings (PSUs) is considered a capital receipt.
6.Assertion (A): TSEd T TSR & T YR &1 Folol g1 HAT &

Revenue expenditure does not create assets for the government.

Reason (R): XhRT HAURIT & el 3R KON W STl ATl Joled T &
ECARU

Salaries of government employees and interest payments on loans are examples of revenue
expenditure.

7. Assertion (A): oieTd <8 GREUTTA & Folol IAT SAGTRAT I A el H HGHI
giar &l

Capital expenditure leads to the creation of assets or reduction of liabilities.

Reason (R): 5, Jell 3R Tohell & fA&ATOT WX gl arell o0 Toed o3g & 3Hcdnd
31T B

Expenditure on building roads, bridges, and schools falls under revenue expenditure.
8.Asserti0n(A):Q:iFloﬁ?T dolc dg 8ldT & 39 TIhR i gifcaar 3R I ST 8a &1

A balanced budget occurs when government receipts are equal to its expenditure.

Reason (R): i Solc gHMM 31 fqpd & T 37efeher 81 B

A balanced budget is always desirable for economic growth.

9. Assertion (A): 3TIAY Tl dF BIAT & ol THR HI AT 3Gh I H 3T gldr
gl

A surplus budget occurs when government revenue exceeds expenditure.
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Reason (R): 31TRY Foic HET ¥ S5 W@ 3rdcyaedn & [T gAA oHerder glah
gl

A surplus budget is always beneficial for an economy facing a recession.
10. Assertion (A): ISTISIT ETET TXHR T Fol SURT AT I SRl Bl
A fiscal deficit represents the total borrowing requirements of the government.
Reason (R): 3T TSN €T WHR & foIT A KT IR 3cTeod BT ¢l
A high fiscal deficit leads to a lower debt burden for the government.
11. Assertion (A): FcT&T T IGIAT T AR STeldl g STdfh JUcTeT Y ITHIFT

TUATGRT R a1 Fehr Bl
Direct tax is borne by the taxpayer, whereas indirect tax can be shifted to the consumer.
Reason (R): f918 &Y Ush 319cget 9 § il 58 HUTIAT HITcllel Hchl & |

Corporate tax is an indirect tax because companies pay it.

12. Assertion (A): TXHR F IR =TT FF FAAGT o Fdegaedr H T FAr
gl

The government stabilizes the economy by adjusting taxes and expenditures.

Reason (R): ISTPNT oAfd dhao Alfge Afd & FRATeadsd & ATEIH T ST ddr
gl

Fiscal policy works only through the implementation of monetary policy.
13. Assertion (A): ¢ FT [GdedaTar & WeR HT FHOT AR S&dl ol

Deficit financing increases the government’s debt liability.

Reason (R): TR ©T¢ FI [adegasar & T & & El?{ﬁ Xl gl

The government increases taxes to finance the deficit.

14. Assertion (A): TSTHNIT ©TeT EEf@dliae 7 & 3w aha & fov gfasrs &
T ¢l

A fiscal deficit can be harmful to economic growth in the long run.
Reason (R): TIHR 3T TSTHNIT °1¢ & HRUT 3 doi F FeIH giar 2l
The government can increase investment due to a high fiscal deficit.

15.Assertion (A): AXPRT T RISl 3ol IR AT HedUT H Hag L ol
Public expenditure helps in poverty alleviation and social welfare.

Reason (R): FdSifeieh o0 H gEfe §AT HEREHITT H HH Hcl &

An increase in public expenditure always reduces inflation.

3|Page



16. Assertion (A): [ar@Tcas g #H T, Tareey 3R 3G TAT W O A gar

gl

Developmental expenditure includes spending on education, health, and infrastructure.
Reason (R): SITST $[TdleT 3R T&T <4 I faehrdicHs: <ad Fgl Siel g

Interest payments and defense expenditure are considered developmental expenditure.

17. Assertion (A): Government budgets help in reducing income inequality.

FYA (A): THNT Tolc 3T AT H HH I H Ace T gl

Reason (R): Government levies progressive taxes and provides subsidies to the poor.

FRUT (R): PR TeTaelier T @Ml g 3R IREh & Jieas! Jeled Hial ¢
.18 Assertion (A): Public expenditure includes both revenue and capital expenditure.

FYA (A): HIdoTloleh <A A Toied 3R Goierd eag gl enfaer gid &

Reason (R): Revenue expenditure creates assets, while capital expenditure is for daily
operations.

HROT (R): TolFd I GRAYTAT 1 AT T §, STafeh Golerd a3 Sfieh
TarelsT & T grar gl

§glddcdlg 797 (Multiple-choice Questions) (01 Mark)

Q1. Why does the government prepare a budget every year?

WHR g I¥ Folc FAI IR AT g2
(A) To allocate resources efﬁciently/mﬁ BT A e ¥ F AT
(B) To control inflation only / &aer ﬂﬂ'l'\':m # afa & & Qv
(C) To increase fiscal deficit / TTHHT °IE HT del & faw
(D) To reduce employment opportunities / USTIR & FET & FH F1 & faw

Q2 . Which of the following is NOT a component of the government budget?

RAFIITRT & O ST TR & Folc HT Tcadh oIal g?
(A) Revenue receipts / TSTEd YIfeadT
(B) Capital receipts / q“\_:ﬁ grfeaar
(C) Public Expenditure / ATdSA{A® &g
(D) Private Expenditure / <Y a9

Q3. Identify the capital receipt from the following:
fAefafad & @ geliora wifeq & ggar= i
(A) Income tax collected from individuals / STTFTAT W THT fHAT IR™AT IR
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(B) Borrowings from the World Bank / faeq d& & 341 faam a=—m a1
(C) Interest earned on government loans / IR ol W AT =g
(D) Dividend received from public sector undertakings (PSUs) / HTdSI{ae &1F 3UHAT F
TCd ST
Q4. Which of the following is a characteristic of capital receipts?
fAeAfaf@a & @ @i gait wifcaar $r faRivdr g2
(A) They do not create any liabilities for the government. / & ISR & faT 1 AR
el 3cTot I &
(B) They reduce the financial assets of the government. / @ YRR dT A= gREgf
F FA FI el Bl
(C) They are recurring in nature. / a radt ‘Ffﬁ' C ) ?IT-ﬁ' %I
(D) They do not include borrowings. / IH 3UR A TgT T 2l

Q5. Revenue expenditure includes which of the following?

ToEg 09 # [afai@d & O a9 ar afaa 82
(A) Salaries paid to government employees / HIRRT FAARAT #1 QT 717 3a=r
(B) Construction of new roads / I8 HSH! &1 AATOT
(C) Investment in railways / YeTd # faQer
(D) Purchase of land for a new airport / sTT gaT$ 313? & fav H‘:ﬁ' il

Q6. Which of the following is an example of revenue expenditure?

farafaf@d # & i Torea T F 38807 82
(A) Interest payments on government debt / EIHRT FOT U sqTST Hardret
(B) Construction of a new hospital / sTT 3EqdTel T HAATOT
(C) Investment in public sector companies / Araefas a7 i Fufaal & @aer
(D) Purchase of machinery for a government factory / ¥Rl &R & faw #wflad
gliea

Q7. A budget is considered balanced when:
Tsh Solc il Adfad AT STl § S

(A) Total revenue = Total expenditure / Pl [AEFT = Fel IT
(B) Total revenue > Total expenditure / $el ASTET > Fel AT
(C) Total revenue < Total expenditure / el I <Pl Y

(D) Revenue deficit = Fiscal deficit / TSI¥d ©TET = JSTHNIT ©TET
Q8. In a surplus budget, the government:

AT ToTH TWER:
(A) Borrows from the public / STeTdl & 3YR ol 3
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(B) Spends more than its revenue / 379t IT¢q & 3fOF T FId §
(C) Collects more revenue than expenditure / T & HfF TTEaT THA FIdl g
(D) Prints more money / 3f8& AaT BIdr g

Q9. Fiscal deficit is the difference between:

TSl grer HAefaf@d & & &1 37 &
(A) Revenue receipts and revenue expenditure / IroT¥d wiftaar 3k =T s
(B) Total expenditure and total receipts excluding borrowings / el caq 3k Sl wifeaar
(FUrr A BIFH)
(C) Total revenue and capital expenditure / el IrsTET 3R q‘\s_:ﬁﬂ?l' = p)
(D) Primary deficit and interest payments / STIfRAE €T 3R sar= HIrdTeT

fA73ad ST g9 (One word/definite answer questions (01 Mark)

1. PR @RI AT ali¥eh 3T AR GEATAd 77 T fqavor F27 dHgelldl §?

What is the statement of estimated annual income and expenditure proposed by the
government called?

2. WHR F 7L fadig @eg F4r gidr g2

What is the main financial objective of the government?
3. §olc & al #TT "ch hisd-aled q gd g2

What are the two main components of the budget?

4. dg dolc Sl GHATS & HHASAR a1 & 3T & v [y &7 & IR Far Jrar g,

FIT FHgelldl &7

What is the budget specially designed for the upliftment of weaker sections of society called?
5. & IIftqal WR $r frd g dr gifed gidr 82

What type of receipt are tax revenues for the government?
6. TR & fHd dufr dr i @ ured 37 fFg ghR i gifcd FHgardr 82

What type of receipt is the income earned by the government from the sale of assets called?
7. s 3R I & gred U WWER FHT fRE IhR AT 31T AR SATAT 82

What type of income is the amount received by the government as dividends and interest?

8. TR EART SINT fohT T FOTIAT (bonds) T TIAT T UTed 3T T FAT gl AT
g2

What is the income received from the sale of bonds issued by the government called?

9. PR FAARAT T IdT ST fFg TR FT =TT 82

What type of expenditure is the payment of salaries to government employees?
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10. 1$ Fshi 3R Tell & AT R @ fohar I7 T fhe ThR HT TT dgelldl §?
What type of expenditure is the money spent on constructing new roads and bridges called?
11. SITST 31T THR & fohdl JhR & 7T 7 37T &2
Under which type of expenditure does interest payment by the government fall?
12. forell EXHRT IETCTel & JTfAhInor # T I 3T A1 HEeTwan?
What is the expenditure incurred on modernizing a government hospital called?
13. I THR & Feol Ifeadl AR Fol 3T FART g, AT $& FI1 gl Sl 8?2
What is it called when the total receipts and total expenditure of the government are equal?
14. I THR & FoT ICAAT Fel 7T @ 31fUF g1, o 3 AT gl S g2
What is it called when the total receipts of the government exceed the total expenditure?
15. Ife THR AT Fel aifeaar $ol <TT A FA gl 3§ FIT Fgl STl 82
What is it called when the total receipts of the government are less than the total expenditure?
16. Tfe TR AT ol SURT Ye¥ X Tl F AAF g ST, dF 39 FI1 Fed 62
What is it called when the total borrowing of the government exceeds its net tax revenue?
17. I TR AT Fol 3URT A SIS T TeT AT S0, A AV =T 41 Fgellwan?

What is the remaining deficit called after deducting interest payments from the total
borrowing of the government?

18. AT TR Sl Taled TICaAT & 3H9el Toled AT QT o781 AL qral, of 34
FAT gl AT &2

What is it called when the government cannot cover its revenue expenditure using only

revenue receipts?

19. I THR HT Fol TG W@mﬂmﬁjﬁsﬁgaﬂﬁ%ﬁvaﬁﬂ—m
3UTRT 39T SITdT 87

What measure is adopted to reduce the situation where the government’s total expenditure
exceeds its total income?

20. G1¢ F HH I & [T TIER I & SgIa DiT-AT 3URT 39T bl g2

What measure can the government adopt to reduce the deficit by increasing taxes?

oy Fi¥lg §o7 (Short answer questions (02 Marks)

1. TPR Y Tl A HY IR FAT § difes T A3 b el Fvar

Hoh? 3GIEIUT gl THSSU|
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10.

How does the government prepare its budget to reduce economic inequalities? Explain with
an example.

Ife fordY TIPR &1 gofc aic H &, a7 g JTcTaLdT & »8 g9fad T Thdr &2

If a government budget is in deficit, how can it impact the economy?

forell o TRHR & ool & a7 YA °ehl H FAsC HY IR Jad 6 I srdfegaear
F FO gafaa =g T

Explain two major components of a government budget and how they impact the economy.

e TR NI Folc H Yoilerd a4 &7 &l §, ar I8 Arelehrel H 3rdiegaedn
FY gHITAT AT

If the government increases its capital expenditure in the budget, how will it impact the
economy in the long run?

RT TR 3Tel Folc o ATEIH T SRISHRT dhl TATAT I hd HI=T HT Tohal
g2

How can the Government of India control the problem of unemployment through its budget?
T TR 3R - Tared 7 R T A 3R 9V fo TR & AT et

A& HAgeaqul §?

Differentiate between tax revenue and non-tax revenue. Which is more important for the
government?

gie Tl a¥ & R &I Golterd WISl 5 Srell 8, dr S8 SRy fad &
T JATT IS

If the government’s capital receipts increase in a particular year, what will be its impact on
public finance?

fretfof@d wiftaat &t aeffera ¥ 3k wRoT &
() BH I T X
(ii) faeg d& & forar arar FHor

Classify the following receipts and give reasons:
(1) Corporate tax from a firm
(i1) Loan taken from the World Bank

IfE THR ITAT TTEd IIeadT & deley & [T 9cheT Y Jara) g, ar Ig 3H
STdT & JFHIAT HII?

If the government increases indirect taxes to boost revenue receipts, how will it impact the
common people?

TWHR & Gollard wiieaal # HoT 3R IR-xoT wiicqat & & a1 AR g2 Sl dr
& BrIcHe glelr g2

What is the difference between loan and non-loan capital receipts? Which is more beneficial?
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11. farafaf@d sag &t gafigd Y 3R sroT &
(i) BRPRT HAURAT & dclel T I
(ii) 51§ TS GRS W T

*Classify the following expenditures and provide reasons:
(1) Payment of salaries to government employees
(i1) Expenditure on a new road project*

12. IfE TR 379 Ao 9T & [[FIT A8 X gidy &, dF I§ dole °g1c &l hd
JHTTIT HEIm?

If the government fails to control its revenue expenditure, how will it affect the budget
deficit?

13. I WHR 39el Yoo &Fg &l §6l ol §, of 388 Adeifaieh 3R s fader @
T JHTT TSI?

If the government increases its capital expenditure, what will be its impact on public and

private investment?
14, THR & dofc H TR 3R el | 37 A Ieierd <aF 4t g0 AT SAer?

Why is government expenditure on health and education not considered capital expenditure in
the budget?

15. e TR T&T &1 T 39 Yoot o7 H geffr el 8, dr g qreehrer A
3ricgaTdT H FA FHIAT HWM

If the government increases its capital expenditure on the defense sector, how will it impact

the economy in the long run?
16. IfE AHR 3HYeT Folc ©IC T HA F & [T HU H I Fchl g, Al ST
ITAFATHT 3R 3cUIgHT W FIT TG TSI

If the government increases taxes to reduce its budget deficit, what will be its impact on
consumers and producers?

17. IfE PR FT Foic ATAAY (Surplus) H &, dT 3H rdcgarar & v v gaear
FAT AT ST ohdT 872

If the government budget is in surplus, why can it be considered a problem for the economy?

18. IRd TR UTPNT °1¢ &l v Hled & o0 fohel S 3URIT &7 JART FHT Tehal
g7

What two measures can the Indian government use to reduce the fiscal deficit?

19. afe freY gr & AR TSI °1eT Fiscal Deficit) =17 T@dT &, df IJ§ JHeIaeaqm W
Srhlfoleh & A AT YA STl HoheT g7 IdAT H|
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20.

If a country experiences a continuous fiscal deficit, what could be its long-term impact on the

economy? Discuss.

WHR @RI ' &l aaafid e & fov dfes Iy e & Fqar 3mqfd w— ar
THTT TSII?

How does issuing bonds to finance the budget deficit affect the money supply?

o’y Fcivlg g97 (Short answer questions (03 Marks)

TEHR F I9IC FT HET 3537 AT FAATAT F FH FG0 AN q@Te=t F
FUAA e FaAT gl TF fAflse 3qreor & @y wASmsT R WER 59 3T
F HA 9IoT FT FhdT &2

One of the main objectives of the government budget is to reduce economic inequality and
efficiently allocate resources. Explain with a specific example how the government can
achieve this objective.

I WEFER ToIC & ATCTHA F FATSERET T8N FY YIod FT ggdr &, @ Fer
Afaat F JIAE=ET TfRT? FrEAT F:|

If the government wants to achieve socialist goals through the budget, what policies should it
adopt? Explain.

FAT WHR dolc Fdd TEd 3R T &7 JdQ@-IGT g, a1 Ig [dw AfS &1
Hecaqor arerer o 7 e 3 A qie F

Is the government budget merely an account of revenue and expenditure, or is it also an
important tool of economic policy? Justify your answer.

Iy WHER AT AorFa Wfeaat # gefer FaT argelt §, A 98 FA-F ¥ 3R
YT Wl §7 T 33T Wia awzmEw

If the government wants to increase its revenue receipts, what measures can it adopt? Explain
with an example.

TF & YR 6 Tificaal (38T & AT o) &1 wefi-weft georeg wifea 3iv wafi-
F3t Gollera wiftq & & # geifga frar smar ¥1 7 Feifeor B FRE w
et et ¥

The same type of receipt (e.g., loans) is sometimes classified as revenue receipts and
sometimes as capital receipts. On what factors does this classification depend?

TWHER & AT F goFa 3R R-w o, Al 1 gfAwr Ageaqor gd g1
A& 61T FHASET F 3o g & T 471 3ia & 3R Fla-ur TR & [/Aw
s e Bl

Both tax revenue and non-tax revenue play an important role for the government. Create a

10| Page



10.

11.

12.

13.

14.

15.

table to explain the difference between the two and analyze which one is more beneficial for
the government.

e o4 AR GAlrT sa7 & {ET X F1 P 0 3ETe0r Wigd Tave Hfaw)

What is the main difference between revenue expenditure and capital expenditure? Explain
with an example.

IfE TFR [T g9 N FA ST gl ¢, A 38 HIA FF GIGAT A S-Sl
¥ dcdd Sl 91fgu?

If the government wants to reduce the revenue deficit, what changes should it make in its
expenditure structure?

TSTET 4T FT IS T TWHER F T @ay 1 € @) ol &1 SHFT FROT
FUSE FIA FT AT & 09 dcqaeyn W FAT YHG 95 Fhell §7

Higher revenue expenditure can be a warning sign for the government. Explain the reason and
discuss its impact on the economy.

et off srdfegaeyr & T Y To9c g BRHS A& ATl ST FROT
wmgcmm%mwmam%?

A surplus budget is not always beneficial for an economy. Explain why and discuss its
possible effects.

IS FIFR °ET goic H AT FET Tgdt &, ) 3@ Fla-dla F 3997 399+
TIfew? §&T H FHAASC

If the government wants to control the deficit budget, what measures should it adopt? Briefly
explain.

TSR 1T 3 UIET "¢ & FAT 3HaT 87 FIT TSR "1 T 3T W
g Rar &1 Qv gar &

What is the difference between fiscal deficit and revenue deficit? Is a high level of fiscal
deficit always a matter of concern?

1 yisAd °reT qff @¥E ¥ WER A AT arawad) F1 @6d a1 7, A1 39
T FR& M & gwa & TET R

Does the primary deficit entirely indicate the government's financial mismanagement, or can
there be other factors? Discuss.

Irdeyaeyr & fAT °rer gore HfAaT ®7 F U AE g1l T T T F fAv
T 39YFd 3G &

A deficit budget is not necessarily bad for the economy. Provide an appropriate example to
explain this.

AT AT v % & IR W FASART F @R garr af0F U der
adwifas Rem & AT a1 3cae FT gFaT 8l

(Insert a graph showing the impact of high government borrowing on long-term growth)
Based on the given graph, explain how excessive government borrowing can hinder long-
term growth.
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16.

17.

18.

19.

TR °IE Y FH FA F AT TWHER A w317 =79 Hfy F Fa1 IgamE
F TR

What changes should the government make in its tax and expenditure policies to reduce the
fiscal deficit?

I TEFR A9 g1 H 0 A & v 30 3ur <t § o s0@ sfesy 7

fheT TG FATATHT HT WHAT FIET 98 ThdT &7
If the government borrows more to cover its deficit, what potential problems might arise in
the future?

g # AaRd F9 & v svdrl RfAder (Disinvestment) T g8t a8
HdT 1 38F BEe 3R Fhare Al W T=t F

Disinvestment can be an effective way to control the deficit. Discuss its advantages and
disadvantages.

afy wFR 30T A BT R F QW FET A §, A FHR rdeygEqr W
T g1 93T Faeqa sarear #

If the government tries to cover its deficit by printing more currency, what impact will it have
on the economy? Explain in detail.

§7e Icavig 97 (Long answer questions (05Marks)

Explain the meaning and objectives of the government budget. Critically analyze how the
government budget helps in achieving economic stability and growth.

WHN Foie &1 AT 3R 3682 Tuse H| faravor e f& Wt sere nfds
TEeRar 3R AT gred == 7 FY T@hF g g

How does the government budget help in reducing income inequalities? Evaluate its role with
suitable examples.

THNT TSI 3T HEAAAN HT HH A H H FGRAAT HAT 82 3UIF
3CTEXVIT o 1Y SHbT $fART I Hedlchel |

The government budget serves multiple objectives. Justify the statement by highlighting its
social, economic, and developmental goals.

TR Tl Ieleh 3ol &l Yid T &1 SHb AIHATTSI, e 3R [deprarcas
TeTT I 3PN HA EU 30 $UA #r 3T g7

Differentiate between the development and non-development components of a government
budget with a real-life case study.
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10.

11.

12.

WHNT Folc & P 3T R-Tara gl F 3R Tuse &y 31X v aredias
SHaeT & FEITT & AT THSU|

Create a hypothetical government budget and discuss how it addresses the problems of
inflation, unemployment, and economic growth.

Teh Flodfeleh THRT dolc IR A AR T2 w & I8 Farehifa, skisem 3R
3T Qg T TAEARN FT gATIT FT T T

Analyze the importance of revenue receipts and capital receipts in government budgeting.
How do they impact fiscal policy?

WHRT Folc # Tolea Wiitaqdl AR Gt wifeeat & #Hged & fagawor &Y &
TR AT A& F gafaa s &

‘Tax revenue is a more sustainable source of income for the government than non-tax

revenue.’ Justify the statement with reasons.

P ToTEd TR & ToIT IR-ae Torea & Jefell & i TAr=lY 317 &7 i g1
gt Tfgd 39 FUT T 3RT gV

Evaluate how capital receipts impact the economic growth of a nation. Use a graphical
representation to support your answer.

qeterd grieaal fahelr g & e geftr & H@ wsfad w8, SHPT Hedihd
HL| T 3R P ARG Tl TASE B |

Prepare a comparative table showing the differences between revenue receipts and capital
receipts with appropriate examples.

Ush JelelcAs TRV TR Y fHHH Trea yrfeadr 3R geiard areaar & o
3R T 3Ugerd 3ergloll Alfed geiam a1 &l

Design a government policy framework focusing on increasing revenue receipts without
imposing new taxes.

AT F T o Torea Wt 7 qefr et X Figd wF T Afd war
R |

Critically examine the role of revenue and capital expenditure in economic development.
How should a government balance them?

M faepra 7 Torea <@ 3R YoieTd T i $fHST T HATelIIedcHS TIETOT
Y| THR H S HY Tclfold AT AMRT?

Evaluate the impact of excessive revenue expenditure on fiscal deficit. Support your answer

with a suitable diagram.
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13.

14.

15.

16.

17.

18.

19.

20.

A& Toled cFY AT AN T1E G FTT &l Hediched Y| el 3R A

39gFd T ganrT Tose Y|

Analyze the significance of capital expenditure in infrastructure development with the help of
recent government policies.

gl T THRY ATl & dest F ATy o & g # qelerd a3 & Hged
FT AT HY|

Prepare a case study showing how mismanagement of revenue and capital expenditure led to
economic instability in a country.

T IEAAA AR Y Tored fe@mr = g o & Torea 3R olera e &
Foate o el o 7 3nfher HEURAT ScUeet H|

Create a flowchart explaining the classification of government expenditure and how it
influences economic growth.

Teh JaTg dIE Tl AIHRI 4T & Fefieior &l FASN AR Ig i gefer i
SO gfdd T g, 38 TASC Al

Analyze the implications of a persistent fiscal deficit on an economy. What corrective
measures can the government take?

Ueh gdd TN g1¢ & JAcTaEAT qT JHTal HT [T Y| TIPR did-hleT
¥ GURTcHS YT FT Hebell 87

Compare the effects of a surplus budget and a deficit budget on economic growth. Which one
is more desirable for a developing country?

AT Fofe IR a1 & ol & S fahrg o gemmat i Joraar w1l R
faerrarelier o & faIT gotdl @ @leT @ 3 3uged &2

Evaluate how different types of budget deficits (fiscal, primary, and revenue) affect
macroeconomic stability.

e IR & soic grel (TN, afAes 3R o) &1 aafte e
EURAr W 9o 1 oA |

Design a policy strategy to reduce fiscal deficit while ensuring continued public welfare
spending.

TTHT €1 I HHF T & T T Aifad WEa AR &N S9d gaafas
FeIMUT eTT Pl ST IWel I STIEAT &l

Using a graphical representation, illustrate the trend of fiscal deficit in India over the past decade.

What lessons can be learned?
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Case Study Based Questions

Case Study 1:
Government Budget and Its Objectives

The Union Government of India presents its annual budget every year, aiming to achieve
economic growth and stability. The budget includes various components such as revenue receipts,
capital receipts, revenue expenditure, and capital expenditure. In the 2023-24 budget, the
government focused on infrastructure development, social welfare, and employment generation. A
significant portion of the budget was allocated to education and healthcare to improve human
capital. However, concerns arose regarding the rising fiscal deficit and its impact on the economy.

HRA WHR G Y aIf¥eh Folc Todd el ¢, [T 3eged 3ide gefer 3k &R
UT ST BT Bl ol # Affew uew aiffer gl g S Uored wiTadn, et
wifeea, Torea a3 oll ead| 2023-24 & Folc A WHN A T &G,
AHATTSR HoAoT AR ASER gold R €A hied fhar Rem iR w@reeg & fav
doic &I Ueh a37 AT 3mafed fomar aran, forad Aea §aes & U g "eh| gTeiien,
TSR 8¢ 7 gefer 3R 8 3rfcqasdr © T 1 de f&dr off s fr TS|

Questions:
1. (2 Marks) Define the term ‘Government Budget’ and explain its two major objectives.

AIHRT ol @ 3T T TAA g2 3T & THE 3eedl i sgrear HifFv|
2. (1 Mark) Which components form the total expenditure in the government budget?
WHRT Fofc H Fel T foheT Tl A Tl 82
3. (1 Mark) Why does the government allocate more funds to education and healthcare?
WHR TRIET 3R Farey & fow #1fUs 9oy F#27 mafed wdr &2

4. (1 Mark) What is the impact of fiscal deficit on an economy?

TR °1¢ T JITIEAT 9T FIT JHT ST g2

Case Study 2:
Classification of Receipts
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The Government of India collects money from various sources to finance its activities. These
receipts are classified into revenue receipts and capital receipts. Revenue receipts include tax and
non-tax revenue, such as income tax, corporate tax, and dividends from public sector enterprises.
On the other hand, capital receipts include borrowings, disinvestment proceeds, and recoveries of
loans. In the fiscal year 2023-24, the government faced a decline in revenue receipts due to tax
reductions and economic slowdown, leading to an increased reliance on capital receipts.

AR TSR H9AT Ffafafedt & faauivor & fov fafdes @idr @ 9 T &l gl
goT WISl Y Toiea Jrieadn AR ot wifcadr & gefihe fohar STiar &1 Wi wifeaat
# A IR IR Torea AAS gld 8, 8 I, Word a3 ddefas & &
3UHAT @ oeier| qEd AR, ol wiitadt & 3urly, Afader @ ured uer AR koW
agel ATAS gIe &1 O a¥ 2023-24 7 WHR & F Feldl AR 30w #HE & HROT
ToTEd giieaal # Rrae &1 AHeT e 931, foad 9ot giftaal o feiRar @¢ 3|

Questions:
1. (2 Marks) Differentiate between revenue receipts and capital receipts with examples.

ToTEd grieaar 3R et grfeqar # AR Fase HIfFT vd 3ereor Afsv|
2. (1 Mark) Give one example of a non-tax revenue receipt.
IR-FT ToET WIeT T Th 3eTEI0T S|
3. (1 Mark) Why does the government borrow money?
TR e FUR FAT ol 87
4. (1 Mark) How does disinvestment contribute to capital receipts?
faferaer goir wiftaat & &8 demer &ar &2
Case Study 3:
Classification of Expenditure

A major challenge in preparing a government budget is deciding the allocation of funds between
revenue and capital expenditure. Revenue expenditure includes expenses that do not create assets,
such as salaries, pensions, and subsidies. Capital expenditure, on the other hand, includes
expenses that lead to asset creation, such as infrastructure projects and defense equipment. In the
recent budget, the government increased capital expenditure on highways and railways, aiming to
boost economic growth. However, concerns were raised regarding the rising burden of subsidies
under revenue expenditure.

WHRT Folc TR FA # FeA 937 el Toed AR ot 37 & &I &e desT ag
ST BT g1 Tk =3g & W @ anfAder gid § o gREufa =gt s9a, S 3a4,
U 3R Afews!| qE@l 3R, ol &0 A 0 @ gld § S gREufadl 1 Ao ad
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g, S TETAT IRASTATT 3R T&TT ITSUT| 8Tl & & dolc H AIRR o ATAEN 3R
Yord 9 Yot o7 dera, foad e gefer 1 gerar Ao @ gleliieh, Tsied &ag A
afewsl & ded 5T S e [T suad f TS

Questions:
1. (2 Marks) Explain the difference between revenue expenditure and capital expenditure
with examples.

TSTEd =0T 3R Polt 3T H HR TISC AT UF 3eTexvr G|

2. (1 Mark) Give one example of capital expenditure.
Yol ST &l Teh 3GTgR0T &ifaiT|

3. (1 Mark) Why is excessive revenue expenditure a concern for the government?
HIfAF Toied I EFR & fov [&dar &1 fawg &t giar g2

4. (1 Mark) How does capital expenditure contribute to economic growth?

ot =g e fawra & H& dererT adr 82

Case Study 4:
Balanced, Surplus, and Deficit Budget

In different economic situations, the government prepares a budget that may be balanced, surplus,
or deficit. A balanced budget occurs when revenue equals expenditure. A surplus budget occurs
when revenues exceed expenditures, often used to control inflation. A deficit budget occurs when
expenditures exceed revenues, commonly used to boost economic growth. In 2023, the Indian
government presented a fiscal deficit budget to support infrastructure and welfare schemes.

fafdesr e oRfEufaat #, WeHR Ffed, AT I1 =1 HT dolc TR HLer g
HIfd dofc a0 glaT § o9 Uoied AR <77 e’ gid g1 AV gofc dd &l §
9 Wod g ¥ AfHw Qar ¥, Sraer 3w gerehifa @ Riftd s #§
ST &1 ©1C & Jolc dd 8idT ¢ od o Joied & 31T giar &, forgerr 3uier 3nfdes
gef 1 See & fav fHar Sar g1 2023 A, 6RAT WHR A A o 3R
HeATUTHRT ASTAIT T TAYA Hl & AT Tt a1 & dolc TE&Jd foha|

Questions:
1. (2 Marks) Explain the three types of budgets with examples.

i YR & Solel &l 361830T digd AHSSU|
2. (1 Mark) Which type of budget helps in controlling inflation?
HaeRa 1 R w0 & @l ar gsic ggrgs giar g2
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3. (1 Mark) What is the main drawback of a deficit budget?
g1 & Solc &l 7T AT FAT 29
4. (1 Mark) Why does the government prefer a deficit budget in developing countries?

Rerafier 2t & TR 91 & Joic & FAT FrAfAShdr dr 82
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